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F H THEA MR TRAEB MRk A—DB | C/BX100
1if Fi | 6,801,013 | 43.5| 6,831,903 | 456| A 30,890 A 0.5
2 5 E 5 B 126,000 0.8 126,000 0.8 0 0.0
3 M 7 B E R A & 29,000 0.2 28,000 0.2 1,000 3.6
4 Hu 7 B OBL R A & 445,000 2.8 435,000 2.9 10,000 2.3
5 H &) # B 5 Bl &2 A 4 34,000 0.2 34,000 0.2 0 0.0
6 5 oz Bi| 1,690,000 10.8| 1,755,000 | 11.7[ A 65,000 A 3.7
5 b ¥ o A& A Bi| 1,470,000 |  9.4| 1,570,000 | 10.5| A 100,000| A 6.4
7 SRR AT 4 11,000 0.1 12,000 0.1 A 1,000 A 8.3
7N Ft 9,136,013 | 58.4| 9,221,903 | 61.5| A 85890 | A 0.9
8 & &k OAHE 508,430 3.3 498,817 3.3 9,613 1.9
9 ff H B & O F OB 73,356 | 0.5 64,348 | 0.4 9,008 14.0
10 E X M 4| 2,290,154 | 14.7| 2,279,941 | 15.2 10,213 0.4
11 1 X i & 926,636 5.9 828,827 5.5 97,809 11.8
12 M JEE I A 7,372 0.0 6,051 0.0 1,321 21.8
13 % i) & 2 0.0 2 0.0 0 0.0
14 % A & 680,001 4.4 340,001 2.3 340,000 100.0
15 # )4 & 10,000 | 0.1 10,000 | 0.1 0 0.0
16 7 I A 146,536 | 0.9 269,610 1.8 A 123,074 | A 45.6
17 M f& | 1,841,500 | 11.8| 1,480,500 | 9.9 361,000 24.4
17 A/ N S 15,620,000 | 100.0 | 15,000,000 | 100.0 620,000 4.1
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1 &% = # 169,295 1.1 166,906 1.1 2,389 1.4
2 ¥ % # | 1,369,307 8.8 1,173,794 7.8 195,513 16.7
3 K 4 # | 6,578,426 | 42.1| 6,171,857 | 41.1 406,569 6.6
4 f 4 # | 1,069,266 6.8 1,215,598 | 8.1| A 146,332 | A 12.0
59 18) # 28,292 0.2 69,371 0.5 A 41,079 | A 59.2
6 B M ok E X B 101,618 0.6 76,668 | 0.5 24,950 32.5
7 7 T # 189,081 1.2 152,226 1.0 36,855 24.2
8 * K #| 1,711,468 | 11.0| 1,860,146 | 12.4| A 148,678 | A 8.0
9 ¥H B # | 1,082,952 6.9 552,604 3.7 530,348 96.0
10 # = # | 1,566,901 | 10.0| 1,771,551 | 11.8| A 204,650 | A 11.6
11 % % # 1H # 2 0.0 2 0.0 0 0.0
12 2 & #o| 1,743,391 | 11.2| 1,779,276 | 11.9| A 35885 | A 2.0
13§ Xl & 1 0.0 1 0.0 0 0.0
14 7 fifi 2 10,000 0.1 10,000 | 0.1 0 0.0
7 A = 15,620,000 | 100.0 | 15,000,000 | 100.0 620,000 4.1
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1A (48 #o| 2,443,450 | 15.6 | 2,416,799 | 16.1 26,651 1.1
2 B # | 3,862,219 | 24.7( 3,579,193 | 23.9 283,026 7.9
3 A 1 #o| 1,743,314 | 11.2 1,779,163 | 11.8| A 35849 | A 2.0
INEE 1~3 8,048,983 | 51.5| 7,775,155 | 51.8 273,828 3.5
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5 M sl & #E 111,599 0.7 103,514 | 0.7 8,085 7.8
6 i By % S| 2,076,621 | 13.3]| 2,104,648 | 14.0 A 28,027 | A 1.3
NEE 4~6 4,459,982 | 28.6 | 4,413,338 | 29.4 46,644 1.1
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7 o AR GRF (| 1,756,620 | 11.2| 1,644,708 | 11.0 111,912 6.8
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137 i 2 10,000 | 0.1 10,000 | 0.1 0 0.0
W A F 15,620,000 | 100.0 | 15,000,000 | 100.0 620,000 4.1
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